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1.1f 6" — 5" always end with a digit, where n is any natural number, then

the desired digit is

Al

B.5

C.3

D.7

Answer:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WHEhiKJOQUqc

° Watch Video Solution

2. For what value of k the pair of linear equations kx -y =2 and 6x - 2y =3

has unique solution.

A k=0

B.k # -3

C.k=3

D.k # 3

Answer:

o Watch Video Solution

3. An equation whose degree is one is equation.

A. Linear

B. Quadradic


https://dl.doubtnut.com/l/_WHEhiKJOQUqc
https://dl.doubtnut.com/l/_a67Rvv5BPXnY
https://dl.doubtnut.com/l/_8RrOR1updqom

C. Cubic

D. Both (a) and (b)

Answer:

o Watch Video Solution

p

S 3
4. In the figure below, ST Il QR, % = 5 and PR = 28 cm. What is the

value of PT?

A. 125 cm

B.17.5 cm


https://dl.doubtnut.com/l/_8RrOR1updqom
https://dl.doubtnut.com/l/_6YUAupgxlhVV

C.10.5cm

D.13.5cm

Answer:

° Watch Video Solution

5.The rational number i is a

22 x 5°

A. Terminating

B. Non-terminating

C. Non-terminating and replating

D. Non-terminating and non-replating

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_6YUAupgxlhVV
https://dl.doubtnut.com/l/_zyabwWZXOd8X

6. If in a triangle, a line divides any two sides of a triangle in the same

ratio, then that line is ..... to the third side.

A. parallel

B. perpendicular

C. equal

D. can't decide

Answer:

o Watch Video Solution

7.What are the value(s) of y, if the points A(-1, y) and B(5, 7) lie on a circle

with centre O(2, -3y).

A.7,3

B.-1,7

c17


https://dl.doubtnut.com/l/_1oJ89DvKX6Xy
https://dl.doubtnut.com/l/_NPA8CNP0zTyp

D.7,2

Answer:

° Watch Video Solution

8.0n choosing a number x from the numbers 1, 2,3 and a number y from

the numbers 1, 4, 9, the probability of P(xy < 9)is:

O|lw Ok O~ oo

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_NPA8CNP0zTyp
https://dl.doubtnut.com/l/_kYhjvGY1pYV7

9. If 12z 4+ 17y = 53 and 17z + 12y = 63 then find the values of

(z +y)

A 4

B.6

C.8

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_M4ThGkSmLHCq

10. What is the distance of the point P from the x-axis, shown on the grid?

& U
P 4
+ 3
132
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A 4
B.-4
C.3
D.-3
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_65dR6Q5Qr3mi
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Which of the above graph represent quadratic polynomials?

A.1and 3
B.1,3and 5
C.Only 5

D.Only 6


https://dl.doubtnut.com/l/_65dR6Q5Qr3mi
https://dl.doubtnut.com/l/_3hm8Ig44Yx7X

Answer:

° Watch Video Solution

12. A box contains 40 pens out of which x are non-defective. If one pen is
drawn at random, the probability of drawing a non-defective pen is y. If
we replace the pen drawn and then add 20 more non-defective pens in
this bag the probability of drawing a non-defective pen is 4y. Then,

evaluate the value of x.

A4
B.7
C.6

D.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3hm8Ig44Yx7X
https://dl.doubtnut.com/l/_KukWzquAdQM0
https://dl.doubtnut.com/l/_vLO6vQfVYNWj

13. Evaluate ab, if a = secf — tan6f and b = secf + tan6.

A.O

C.1

D.2

Answer:

o Watch Video Solution

14.The perimeter of two similar triangles ABC and LM N are 60cm and

48cm respectively. IFLM = 8cm, then what is the length AB?

A.10 cm
B.12 cm
C.6cm

D.14 cm



https://dl.doubtnut.com/l/_vLO6vQfVYNWj
https://dl.doubtnut.com/l/_NTwORk8n0nYd

Answer:

° Watch Video Solution

15. HCF of two numbers a and b is 6 and their LCM is 60. Then, product of

ab is:

A. 240

B. 180

C. 225

D. 360

Answer:

° Watch Video Solution

16. For what value(s) of x, the distance between the points P(2, -3) and Q(x,

5) is 10 units?


https://dl.doubtnut.com/l/_NTwORk8n0nYd
https://dl.doubtnut.com/l/_95nOJ4UdprdY
https://dl.doubtnut.com/l/_KBfAooA6WDAL

A9, 2

B.-4,8

C.10,1

D.6,3

Answer:

o Watch Video Solution

17. What is the probability of getting a consonant, when a letter of

English alphabet is chosen at random?

Answer:



https://dl.doubtnut.com/l/_KBfAooA6WDAL
https://dl.doubtnut.com/l/_Vc4A2TEJ0m71

| ° Watch Video Solution

18. A line intersects the y-axis and x-axis at the points P and Q respectively.

If (2,-5) is the mid-point of PQ then find the coordinates of P and Q.

A. (0,-10)

B. (4, 0)

C.(10,0)

D. (0, -4)

Answer:

° Watch Video Solution

) 4 —sin®45°
19. Find the value of x if — =35
cot z. tan 60

A.0°

B.15°


https://dl.doubtnut.com/l/_Vc4A2TEJ0m71
https://dl.doubtnut.com/l/_JZrf889MVqrV
https://dl.doubtnut.com/l/_jQpaMHHF9L0E

C.30°

D.60°

Answer:

° Watch Video Solution

20. Find the smallest number which when increased by 17 is exactly

divisible by both 520 and 468.

A. 4680

B. 4663

C. 4581

D. 4682

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jQpaMHHF9L0E
https://dl.doubtnut.com/l/_lwh7Zd32Jxhu

1. Consider two numbers, whose HCF and LCM are 33 and 264 respectively.
The first number is completely divisible by 2 and gives quotient 33. What
is the other number?

A. 66

B.132

C.58

D.73

Answer:

° Watch Video Solution

2.The pair of eqautions x =0 and x =- 2 have

A. One solution


https://dl.doubtnut.com/l/_K8b1HBLx8fQw
https://dl.doubtnut.com/l/_QBK3AJubs11c

B. Two solution

C. Infinitely many solution

D. No solution

Answer:

° Watch Video Solution

3. Write the distance between the
B(0, 10sin®) .

A. 15 units

B. 10 units

C. 20 units

D. 1 unit

Answer:

points

A(10cos 8, 0)

and

° Watch Video Solution



https://dl.doubtnut.com/l/_QBK3AJubs11c
https://dl.doubtnut.com/l/_dFN7othGVMbh

4, Find the value of sin20; + tan36,, if tan(f; + 6,) = /3 and

2
sec(fy, — 0y) = —

\/5.
A2
B.1

C.0O

Answer:

o Watch Video Solution

5.The solution of given pair of linear equations 2x +y=2 and 2y -x =4 is:
A.(0,0)

B.(2,0)

C.(0,2)


https://dl.doubtnut.com/l/_dFN7othGVMbh
https://dl.doubtnut.com/l/_ZRd1m1n1HV6j
https://dl.doubtnut.com/l/_UdASGbYH02pe

D. (2, 2)

Answer:

° Watch Video Solution

6. Find the value of 6, if ,/3tan20 — 3 = 0

A.15°
B.30°
C.20°

D.45°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_UdASGbYH02pe
https://dl.doubtnut.com/l/_xXjiTEhTxyNx

7. On choosing a number randomly from the numbers:

1,3,4,6,7, 10, 8, 65, the probability that it is a prime number is:

gl ofw B~ ok

Answer:

o Watch Video Solution

8. On a sunny aftermoon, Sam and Ram were sitting idle and getting
bored. So they started playing a game with a pair of dice that one of
them had. Each of them started rolling the pair of dice one by one,
stating one condition before rolling. If the person gets the numbers

according to the condition stated by him, he wins and get a score.


https://dl.doubtnut.com/l/_8kspIKGnwb4O
https://dl.doubtnut.com/l/_usBBeSS2s6Fj

Answer:

o Watch Video Solution

9.The ratio of areas of two similar triangles is 4:9. Then, the ratio of their

sides is:


https://dl.doubtnut.com/l/_usBBeSS2s6Fj
https://dl.doubtnut.com/l/_B6Zy7RG20TKi

A 2:3

B.3:2
C\/g\/i
D.v/2:4/3

Answer:

o Watch Video Solution

10. Find the LCM of smallest prime number and smallest composite

number.

A 12

B.10

C.2

D.4

Answer:



https://dl.doubtnut.com/l/_B6Zy7RG20TKi
https://dl.doubtnut.com/l/_hgkq5zBLQ9VR

| ° Watch Video Solution

1. The value of C for which the pairs of equation

cx —y = 2 and 6z — 2y = 4 will have infinite many solutions.

A3

B.5

D.O

Answer:

° Watch Video Solution

12.1n AABC, when DE || BC and AD = x, DB =3x + 4, AE = x + 3 and EC = 3x +

19 then value of x is:


https://dl.doubtnut.com/l/_hgkq5zBLQ9VR
https://dl.doubtnut.com/l/_8a6q9n7KbkCn
https://dl.doubtnut.com/l/_8MwoX3xPnyvn

A. 4 units

B. 6 units

C. 3 units

D. 2 units

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8MwoX3xPnyvn
https://dl.doubtnut.com/l/_RuluLkpKhGyV

13. Evaluate the coordinates of the point which divides the line segment

joining the points (8,-9) and (2, 3) internally in the ratio 1: 2.

A. (6,-5)

B. (5,5)

C.(1,-4)

D.(2,3)

Answer:

o Watch Video Solution

14. Aright triangle has hypotenuse of length p cm and one side of length

gcem . If p— g = 1, find the length of the third side of the triangle.

A. 2pq

B.\/p+4q

C. p2 + q2


https://dl.doubtnut.com/l/_RuluLkpKhGyV
https://dl.doubtnut.com/l/_0VP4AMN5E3en

D. \/2pq

Answer:

° Watch Video Solution

11

15. Find the value of y, from the equations x -y =0.9 and zty

A 1.2

B. 21

C.32

D.23

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0VP4AMN5E3en
https://dl.doubtnut.com/l/_CMcNG1LUdRfR

16. Find the distance 2AB, where A and B are the points (-6, 7) and (-1, -5)

respectively.

A. 28 units

B. 24 units

C. 25 units

D. 26 units

Answer:

o Watch Video Solution

17. Pillars of Ashoka are a series of columns in Indian subcontinent. One of
the Pillars of Ashoka is located in Vaishali having a single lion capital and
another inside the Allahabad Fort, known as Allahabad pillar or Ashoka
Stambha, shown as BC in the figure below. The point A is taken on the
ground such that AABC forms a right-angled triangle. If sin(A + B) =1 and

1
sin(A — B) = 3 0° < A—-B<90°, A > B, the values of A and B


https://dl.doubtnut.com/l/_M9MZo1PUv6AL
https://dl.doubtnut.com/l/_uKXTZmYvz0pi

are:

A.A=30°,B=60°

B.A=45° B =45"

C.A=60°,B=30°

D.A=45°,B=30°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uKXTZmYvz0pi

18. Ratio of areas of two similar triangles are

A. Their altitudes have a ratio a: b.
) ) .a
B. Their medians have a ratio 2 :b.

C. Their angle bisectors have a ratio a?: b*

D. The ratio of their perimeters is 3a: b.

Answer:

o Watch Video Solution

19. Evaluate one zero of p(z) = az® + bz +canda+b+c=0.

A.0
B.2

C.1


https://dl.doubtnut.com/l/_Yu9ku2XtTdsr
https://dl.doubtnut.com/l/_mTatBX8QdKTO

Answer:

o Watch Video Solution

1. Case Study-1:

Due to covid-19 lockdown, Ramesh decides to redo his house garden with
some plantation work with his son. They have an equilateral triangle
shaped garden and he has planted the garden with 6 different types of
flowers (each of radius 1 m within a circular area). This left the remaining
part of garden (that is outside the circular plants area) with lush green

grass.


https://dl.doubtnut.com/l/_mTatBX8QdKTO
https://dl.doubtnut.com/l/_UI8oTlyDPMmz
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Now, comes the part of adding boundaries to corner the garden off nicely
and he needs to know some calculations for it.

A boundary wall of height 25 cm is to be made around the garden leaving
a space of 1 m wide for a gate on one side. The total length of boundary

wall is

A. 18 m

B.20 m

C.21Tm

D.22 m


https://dl.doubtnut.com/l/_UI8oTlyDPMmz

Answer:

° Watch Video Solution

<

What is the probability of getting a number between 7 and 12 on the

2.

spinner?

° Watch Video Solution



https://dl.doubtnut.com/l/_UI8oTlyDPMmz
https://dl.doubtnut.com/l/_RPACfMiI4AQI

2

What is the probability of getting a number less than 6 on the spinner?

3.

o Watch Video Solution



https://dl.doubtnut.com/l/_AswxWxfr8PFE

<

What is the probability of getting a factor of 24 on the spinner?

4.

o Watch Video Solution



https://dl.doubtnut.com/l/_XUoyiNuNCI8c

2

What is the probability of getting a multiple of 3 on the spinner?

5.

° Watch Video Solution

6. Case Study-2:
Radha decorated the door of her house with garlands on the occassion of

Diwali. Each garland forms the shape of a parabola as shown in the figure.


https://dl.doubtnut.com/l/_b11XmShC3fwk
https://dl.doubtnut.com/l/_bP1sFLgX6MFT

What type of polynomial does the parabola formed by the garland
represent?

A. linear

B. quadratic

C. cubic

D. None of these

Answer:

o Watch Video Solution

7. Case Study-2:

Radha decorated the door of her house with garlands on the occassion of


https://dl.doubtnut.com/l/_bP1sFLgX6MFT
https://dl.doubtnut.com/l/_OZ4wXLdhHyYX

Diwali. Each garland forms the shape of a parabola as shown in the figure.

Evaluate the number of zeroes of a quadratic polynomial.

A. more than 2

B. atmost 2

C.less than 2

D. equal to 2

Answer:

° Watch Video Solution

8. Case Study-2:

Radha decorated the door of her house with garlands on the occassion of


https://dl.doubtnut.com/l/_OZ4wXLdhHyYX
https://dl.doubtnut.com/l/_G8ABnOrbSzet

Diwali. Each garland forms the shape of a parabola as shown in the figure.

A quadratic polynomial with the sum and product of its zeroes as 1and -2

respectively, is:

A.zc2+:c—2

B.z2 — 2 — 2

C.z2 +2x —1
D.z2 — 2z — 1
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_G8ABnOrbSzet

9. Case Study-2:
Radha decorated the door of her house with garlands on the occassion of

Diwali. Each garland forms the shape of a parabola as shown in the figure.

What is the value of k, if one of the zeroes of the quadratic polynomial

(k —2)z? — 22 — 5is -1?

A5

B.3

D.O

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vXuxv6SFMjey

10. If a, B are the zeroes of the polynomial f(x) = z2 — 7z + 12, then find

1
the value of — + —.
a

B

A 12

B.(— 7)(12)

Answer:

° Watch Video Solution

Part A Section |

1.If the sum of the zeros of the polynomial 2z% + 3kz + 3 is 6, then find

the value of k.

° Watch Video Solution



https://dl.doubtnut.com/l/_BTnc8tLkVpi6
https://dl.doubtnut.com/l/_0kzdyRJqLT3A

2. When a pair of linear equations is said to be inconsistent?

o Watch Video Solution

3.Find the roots of the quadratic equation (3z — 5)(x + 3) = 0.

o Watch Video Solution

4, Find the sum of natural numbers from 51 to 100.

o Watch Video Solution

5.Find the 8" term from the end of the AP.— 12, — 7, —2,...,68

o Watch Video Solution

6. How many terms of AP: 18, 16, 14, ... make the sum zero?


https://dl.doubtnut.com/l/_ueDNzmI6rXBj
https://dl.doubtnut.com/l/_jOOFxv8IfFeI
https://dl.doubtnut.com/l/_z7FkxaFRzni3
https://dl.doubtnut.com/l/_NvqqS8hLbUBI
https://dl.doubtnut.com/l/_ZMhqJugBYBKp

° Watch Video Solution

7. For what value of a is —4 zero of the polynomial

p(z) =2 —z — (2a + 2)?

° Watch Video Solution

8.1f A(6,2), B(4,2) and C(6,4) are the vertices of AABC, then find

the length of the median through C.

° Watch Video Solution

9.The base PQ of two equilateral triangles PQR and PQR with side 2a lies
along y-axis such that the mid-point of PQ is at the origin. Find the

coordinates of the vertices R and R of the triangles.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZMhqJugBYBKp
https://dl.doubtnut.com/l/_c7MI8QajqznI
https://dl.doubtnut.com/l/_RvkMbUP7ItdC
https://dl.doubtnut.com/l/_zYbheqUJOYAc
https://dl.doubtnut.com/l/_QwrQeT6NMeEW

AD 3
10.1n a AABC, if DE is parallel to BC, DB 1 and AC =15 cm, then find

the length AE.

° Watch Video Solution

1. If the bisector of an angle of a triangle bisects the opposite side, prove

that the triangle is isosceles.

° Watch Video Solution

12. Draw a line segment of length 8 cm and divides it in the ratio 2: 3

° Watch Video Solution

13. Two concentric circles are of radii 5 cm. and 3 c. Find the length of the

chord of the larger circle which touches the cmaller circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_QwrQeT6NMeEW
https://dl.doubtnut.com/l/_qF58mKAHL7gL
https://dl.doubtnut.com/l/_yeVjicpvd76c
https://dl.doubtnut.com/l/_7bLQEVGIrus1

14. Write the area of a sector of angle 0 (in degrees) of a circle with radius

r.

° Watch Video Solution

15. If the perimeter of a semicircular protractor is 36cm, find its diameter.

° Watch Video Solution

16. Determine the modal class for the frequency distribution given below

is:
Class interval 0—20 20—40 40—-60 60— 80 &0 — 100
Number of workers 15 18 21 29 17

o Watch Video Solution

17.1f P(E) = 0.005, then find the probability of "not E'.

o Watch Video Solution



https://dl.doubtnut.com/l/_kyU3aHtGuaPj
https://dl.doubtnut.com/l/_eUfWQiLrRLnM
https://dl.doubtnut.com/l/_d56rrFJC5i1O
https://dl.doubtnut.com/l/_lGkMNFcjPgm5

18. The upper limit of the median class of the following frequency

distribution.
Class 0—-5 6—11 12—17 18 —-23 24— 29
Frequency 13 10 15 8 11

° Watch Video Solution

19. An unbiased die is rolled once. Find the probability of getting an even

prime number.

° Watch Video Solution

20.If sin B = 0.5, find the value of 3 cos B — 4cos® B

° Watch Video Solution

21. Find the value of cos ec?30° sin® 45° — sec? 60°

| e |


https://dl.doubtnut.com/l/_lGkMNFcjPgm5
https://dl.doubtnut.com/l/_T5MSjzcMpW15
https://dl.doubtnut.com/l/_S7W95ZSJAejF
https://dl.doubtnut.com/l/_w85zmP4DCYWT
https://dl.doubtnut.com/l/_uq3V7HkRva0n

| &J Watch Video Solution

Part A Section li

Which are the angles of elevation?

° Watch Video Solution



https://dl.doubtnut.com/l/_uq3V7HkRva0n
https://dl.doubtnut.com/l/_6XW6fiWcVzja

Which are the angles of depression?

o Watch Video Solution

3. An observer at a distance of 10 m from a tree looks at the top of the

tree , the angle of elevation is 60° . What is the height of the tree ? (

V3 =1.13)

A 175 m
B.12.26 m
C.1445m

D.154 m


https://dl.doubtnut.com/l/_5kwSCB85uBgQ
https://dl.doubtnut.com/l/_OyXosDkMarM0

Answer: C

° Watch Video Solution

4.Two men on either sideof a 75 m high building and in line with base of
buildig observe the angle of elevation of the top of the building as 30°
and 60°. Find the distance between the two men. (Use \/g = 1.73)
A.6.8m
B.85m

C.11.2m

D.219m

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OyXosDkMarM0
https://dl.doubtnut.com/l/_rTuvFIe8jpaX

5. Mr. Naik is a paramilitary Intelligence Corps officer who is tasked with
planning a coup on the enemy at a certain date. Currently he is
inspecting the area standing on top of the cliff. Agent Vinod is on a hot
air balloon in the sky. When Mr. Naik looks down below the cliff towards
the sea, he has Ajay and Maran in boats positioned to get a good vantage

point.

""""""

Mo Agau
The main goal is to scope out the range and angles at which they should
train their soldiers.
If the vertical height of the balloon from the top of the cliff is 12 m and
/b = 30°, then the distance between the Naik and vinod is
A6m

B.12 m

C.18m


https://dl.doubtnut.com/l/_62WnXiFqlboX

D.24 m

Answer: D

o Watch Video Solution

6. Read the following passage and answer the questions that follows :
A teacher told 10 students to write a polynomial on the black board.

Students wrote

1. z2 42 6. x—3

2. 2z +3 7. at4+az?+1
3. 22 +z2+1 8 z? +2zx +1
4. z3+ 222 +1 9. 23— z?

5. x?—2z+1 10. z* -1

(i) How many students wrote cubic polynomial

(ii) Divide the polynomial (z* + 2z + 1) by (z + 1).

Ax+7
B.x —3
Cz—7

D.x +3


https://dl.doubtnut.com/l/_62WnXiFqlboX
https://dl.doubtnut.com/l/_yUyMwx9TgXyt

Answer: C

° Watch Video Solution

7.The perimeter of the triangle shown in figure. is
(##NCERT EXM_MAT VI_CO7_EO1 015 QO1png" width="80%">
A 12
B. 23
C.47

D. 49

Answer: D

° Watch Video Solution

8. The equation of a plane wave travelling along positive direction of z —

2m
axis is y = asin T(vt — x) When the wave is reflected at a rigid surface



https://dl.doubtnut.com/l/_yUyMwx9TgXyt
https://dl.doubtnut.com/l/_cuJW30R0cdTE
https://dl.doubtnut.com/l/_NDVUwfj7hMfS

and its amplitude becomes 80 % , then find the equation of the reflected

wave.

A. 1250
B. 2225
C. 2500

D. 2750

Answer: C

° Watch Video Solution

9. Divide 3z* — 5% — 222 — 8z + 3 by z? + 5z + 3

o Watch Video Solution

10. The equation of a plane wave travelling along positive direction of

2m
x — axis is y = asin T(Ut — x) When the wave is reflected at a rigid


https://dl.doubtnut.com/l/_NDVUwfj7hMfS
https://dl.doubtnut.com/l/_B2qFszj0TkZx
https://dl.doubtnut.com/l/_7mqC1phcZI2K

surface and its amplitude becomes 80 %, then find the equation of the

reflected wave.

A. 49

B.47

C.44

D.42

Answer: D

o Watch Video Solution

11. 50 students of class IX planned a visit to an old age home and to
spend the whole day with its inmates. Each one prepared a cylinderical
flower vase using card board to gift the inmates. The radius of cylinder is
4.2 cm and the height is 11.2 cm.

What is the amount spent for purchasing the card board at the rate of 20

per 100m2.


https://dl.doubtnut.com/l/_7mqC1phcZI2K
https://dl.doubtnut.com/l/_eFE3a48kNyWV

A.3% 500

B.¥ 750

C.¥ 1000

D.¥ 1250

Answer: C

o Watch Video Solution

12. 50 students of class IX planned a visit to an old age home and to
spend the whole day with its inmates. Each one prepared a cylinderical
flower vase using card board to gift the inmates. The radius of cylinder is
4.2 cm and the height is 11.2 cm.

What is the amount spent for purchasing the card board at the rate of 20

per 100m?.

A. 20

B. 50


https://dl.doubtnut.com/l/_eFE3a48kNyWV
https://dl.doubtnut.com/l/_DVYkokZGafQe

C.54

D. 60

Answer: C

° Watch Video Solution

13. Some friends pooled money to gift packs to senior citizens staying in
old-age home. They pooled ¥ 3500. If each gift costs ¥ 70, how many
senior citizens received gifts?

A.35

B. 50

C.54

D. 60

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DVYkokZGafQe
https://dl.doubtnut.com/l/_SKI06jwV2gBl

14. Four friends Rohan, Amar, Saran and Madhukar decided to pool same
money. They pooled money in the ratio 2 : 3 : 4 : 5. With the pooled
money ¥ 3500. How much amount was pooled by Rohan and Madhukar
together?

A.% 1856

B.?¥ 1750

C.¥1623

D.¥ 2150

Answer: B

o Watch Video Solution

15. Four friends Rohan, Amar, Saran and Madhukar decided to pool same
money. They pooled money in the ratio 2 : 3 : 4 : 5. With the pooled

money ¥ 3500. How much amount was pooled by Amar?

[ o |


https://dl.doubtnut.com/l/_SKI06jwV2gBl
https://dl.doubtnut.com/l/_ALXiM1eg2LHq
https://dl.doubtnut.com/l/_6K9N0F27jBBt

| @ Watch Video Solution |

16. Thermas Housewares Co. Ltd is one of the leading brands in the field
of vacuum flask. They are producing a new high-quality heat preservation
flask series and the below figure shows the cross - section of the interior
part of a new concept thermos flask.

The top part is a trapezium, the middle part is a rectangle and the
bottom part is a semi-circle

B

i - E



https://dl.doubtnut.com/l/_6K9N0F27jBBt
https://dl.doubtnut.com/l/_p1pi4DBIKQvp

25| 25

The dimension of various parts are:

CE=20cm,BC=25cm,AB=GF =13 cm, AG=10 cm and AN =12 cm

The perimeter of the trapezium part of the cross section, is

A.36 cm

B.56 cm

C.30cm


https://dl.doubtnut.com/l/_p1pi4DBIKQvp

D.46 cm

Answer: B

° Watch Video Solution

25| a5
| I
C"-'\C_\:_:::_‘;HJ :
0

17.

The dimension of various parts are:


https://dl.doubtnut.com/l/_p1pi4DBIKQvp
https://dl.doubtnut.com/l/_kRntbofn0IQo

CE=20cm,BC=25cm, AB =GF =13 cm, AG =10 cm and AN =12 cm

The perimeter of the semi-circular part of the cross section, is

A.Tsqgcm

B. 107 sq cm

C.50m sq cm

D. 1007 sq cm

Answer: D

o Watch Video Solution

18. Thermas Housewares Co. Ltd is one of the leading brands in the field
of vacuum flask. They are producing a new high-quality heat preservation
flask series and the below figure shows the cross - section of the interior
part of a new concept thermos flask.

The top part is a trapezium, the middle part is a rectangle and the

bottom part is a semi-circle


https://dl.doubtnut.com/l/_kRntbofn0IQo
https://dl.doubtnut.com/l/_53Gsm1UkolUi

25| 25

The dimension of various parts are:


https://dl.doubtnut.com/l/_53Gsm1UkolUi

CE=20cm,BC=25cm,AB=GF =13 cm, AG=10cm and AN =12 cm

The perimeter of the rectangular part of the cross section, is

A.90 cm

B.70 cm

C.50 cm

D.40 cm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_53Gsm1UkolUi

B E

In a rhombus BEST,if /B = 60° and BT = 6cm, then find the length of

19.

the diagonal TE.

The following are the steps involved in solving the above problem.

Arrange them in sequential order.

(A) = A BTE is an equilateral triangle.

(B) Join Tand E

(C ) In
180° — 60°

ABET,BT = BE = /BTE = /BET = — = 60° (.- LB =


https://dl.doubtnut.com/l/_5jzK0VULl1oF

(D) TE = 6cm

A.83 cm

B.86 cm

C.1174 cm

D. 1304 cm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5jzK0VULl1oF

C

20.
In the figure given above, ABCD is a quadrilateral and BPDQ is
parallelogram. AR = 50 cm, CQ =70 cm, BR = 60, and PR = 40 cm. If the area
of the quadrilateral ABCD is 15, 600cm?, then find the area of then find
the area of the parallelogram BPDQ (in cm?).

A.873 sqcm

B.738sqcm

C.783sqcm

D.837 sq cm

Answer: D


https://dl.doubtnut.com/l/_ichqkdhEZZMO

° Watch Video Solution

Part B Section lii

1. Using prime factorisation, find the HCF and LCM of 150 and 240.

° Watch Video Solution

2. Show that 3 + /5 is an irrational number, assuming that /5 is an

irrational number.

° Watch Video Solution

3. What number should be added to the polynomial, z> + 7z — 35, so

that 3 is the zero of the polynomial?

° Watch Video Solution



https://dl.doubtnut.com/l/_ichqkdhEZZMO
https://dl.doubtnut.com/l/_DVXU9qTZCJXm
https://dl.doubtnut.com/l/_i5D8W8QRnIoP
https://dl.doubtnut.com/l/_XArTSD7AqgE8
https://dl.doubtnut.com/l/_UD0d4hEoWjww

4. Find the ratio in which the line segment joining the points

(—3,10) and (6, — 8) is divided by ( — 1, 6).

° Watch Video Solution

5. Using distance formula, show  that the points

A(1, — 1), B(5,2) and C(9, 5) are collinear.

° Watch Video Solution

cosf —sinfd  1—+/3

6. If =
cos 0 + sinf 1++/3

, then find the value of 6.

° Watch Video Solution

7. Rasheed got a playing top (lattu) as his birthday present, which

surprisingly had no colour on it. He wanted to colour it with his crayons.


https://dl.doubtnut.com/l/_UD0d4hEoWjww
https://dl.doubtnut.com/l/_9msliekCoKPU
https://dl.doubtnut.com/l/_sV2aa5auGoxT
https://dl.doubtnut.com/l/_S0XEkHyHhbpQ

The top is shaped like a cone surmounted by a hemisphere. The entire

top is 5 cm in height and the diamete

° Watch Video Solution

8. For the following frequency distribution, determine the mode and the

median:
Class 100 — 120 120 — 140 140 — 160 160 — 180 180 — 200
Frequency 12 14 8 6 10

° Watch Video Solution

Part B Section Iv

1.In an AP, the last term is 28 and the sum of all the 9 terms of the AP. is

144. Find the first term.

o Watch Video Solution



https://dl.doubtnut.com/l/_S0XEkHyHhbpQ
https://dl.doubtnut.com/l/_g8I9VSdYBmYa
https://dl.doubtnut.com/l/_zTcM6tCI2zsR

2.In what ratio does the X -axis divide the line segment joining the points

(-4,-6) and (-1,7) ? Find the coordinates of the points of division.

° Watch Video Solution

3. Prove that the parallelogram circumscribing a circle is a rhombus.

° Watch Video Solution

4.The diagonal BD of a parallelogram ABCD intersects the segment AE at
the point F, where E is any point on the Side BC. Prove that

DF x EF = FB x FA.

° Watch Video Solution

5. Draw a circle of radius 3 cm. Take a point P at a distance of 5 cm from

the centre of the circle. From P, construct a pair of tangents to the circle.

| e |


https://dl.doubtnut.com/l/_Glairhh3NflU
https://dl.doubtnut.com/l/_busA0IVq45xU
https://dl.doubtnut.com/l/_hqJgNq00KwhN
https://dl.doubtnut.com/l/_b51iVd4CVU7f

I o Watch Video Solution

6.In the given figure, are shown two arcs PAQ and PBQ. Arc PAQ is a part
of circle with centre O and radius OP while are PBQ is a semi-circle drawn
on PQ as diameter with centre M. OP=PQ=10 cm show that area of shaded

region is 25(\/3 — %)cm2

o Watch Video Solution

7. A Hollow cone is cut by a plane parallel to the base and upper portion
is removed. If the curved surface of the remainder is 8/9 of the curved
surface of the whole cone; find the ration of the line-segment into which

the cone's altitude is divided by the plane.

o Watch Video Solution

8. A number x is selected from the numbers 1,23 and then a second

number y is randomly selected from the numbers 14,9. What is the


https://dl.doubtnut.com/l/_b51iVd4CVU7f
https://dl.doubtnut.com/l/_2Oyu3x30spn5
https://dl.doubtnut.com/l/_x7RlzEyOxCGC
https://dl.doubtnut.com/l/_7o8EhIIMYs1r

probability that the product xy of the two numbers will be less than 9?7

° Watch Video Solution

9. If the median of the following data is 32.5, find the missing frequencies.

Class 0-16 | 10-20 | 2030 | 30-40 | 4050 5060 | 60-70 | Total
quency | £ | 5 | s 12| s | 3| 2 |

b

° View Text Solution

Part B Section V

1. A two digit number is four times the sum and three times the product

of its digits.

° Watch Video Solution



https://dl.doubtnut.com/l/_7o8EhIIMYs1r
https://dl.doubtnut.com/l/_bbk19099rHIn
https://dl.doubtnut.com/l/_T1tPQJTpNFaW

2. In the given figure, AFEC is congruent to AGDB and /1 = /2.

Prove that AADE~AABC

° Watch Video Solution

3.If an isosceles triangle ABC' in which AB = AC' = 6¢m is inscribed in

a circle of radius 9cm, find the area of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_irh8zcZ2NPbQ
https://dl.doubtnut.com/l/_WP3fAla48LCW

4. From an aeroplane vertically above a straight horizontal road, the
angles of depression of two consecutive mile stones on opposite sides of
the aeroplane are observed to be aandf . Show that the height in miles

o tana tan
of aeroplane above the road is give by

tana + tan 8

o Watch Video Solution

1. If the sum and product of zeroes of a polynomial are — 2, 3 respectively,

then the polynomial is

Az:—2z+3

B.z2 + 2z — 3

Czl+2zx+3

D.z2 — 2z — 3

Answer:


https://dl.doubtnut.com/l/_7e7LQJxeDNCP
https://dl.doubtnut.com/l/_S3xrDKhoEjtG

° Watch Video Solution

(1 + tan?6)sin6 cos 6
tan@

2.Evaluate: 5 +

A1l

B.5

D.6

Answer:

° Watch Video Solution

3. Find the distance 2AB, where A and B are the points

(—6,7) and ( — 1, — 5) respectively.

A. 28 units

B. 24 units


https://dl.doubtnut.com/l/_S3xrDKhoEjtG
https://dl.doubtnut.com/l/_F2Lp30d9knpX
https://dl.doubtnut.com/l/_ZBhoPOlIe6Zl

C. 25 units

D. 26 units

Answer:

o Watch Video Solution

4. For some integer q, every odd is of the form

Bm+1

C.2m

D.2m +1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZBhoPOlIe6Zl
https://dl.doubtnut.com/l/_uRe6Lpsd9leJ

5. What is the value of ZF'in the given figure

A.60°

B.80°

C.40°

D.70°

Answer:

o Watch Video Solution

6. Express R3 in terms of R; and R, where the sum of areas of two

circles with radii R; and R, is equal to the area of the circle of radius R3


https://dl.doubtnut.com/l/_6MWLVJ0Cy7Ol
https://dl.doubtnut.com/l/_jsQ6i7seNlE6

A.R: + R2 + R?
B.R2 = R} — R}
C.R; = R} + R}

D. R} + R} = R}

Answer:

o Watch Video Solution

7. Find the value of vy, if the point (5, y) divides the line segment joining
A(9, — 1) and B(3, — 7) in the ratio 2: 1.

A5

B.—4.5

C.6.5

D.O

Answer:



https://dl.doubtnut.com/l/_jsQ6i7seNlE6
https://dl.doubtnut.com/l/_w14DtauvIDS1

| o Watch Video Solution

8. The condition on the polynomial p(z) = az® + bz + ¢, a # 0, so that

its zeroes are reciprocal of each other, is

A. a=c

B. b=c

Ca= —b

D.a #b#c
Answer:

o Watch Video Solution

9. The total number of students in class X are 54, out of which there are
32 girls and rest are boys. The class teacher has to select one class

representative. She writes the name of each student on a separate card


https://dl.doubtnut.com/l/_w14DtauvIDS1
https://dl.doubtnut.com/l/_v20bC2sc8kUf
https://dl.doubtnut.com/l/_IkiVNdmCYtVX

and put the cards in one bag. She randomly draw one card from the bag.

What is the probability that the name written on the card is of a girl?

Answer:

o Watch Video Solution

10. After how many places, the decimal form of the number

terminate?

Al

B.2

C.3


https://dl.doubtnut.com/l/_IkiVNdmCYtVX
https://dl.doubtnut.com/l/_uW8lnHUsftfH

D.4

Answer:

° Watch Video Solution

11.1f any two sides of a triangle are divided by the line in the same ratio,

then the line must be to the third side of the triangle.

A. parallel

B. perpendicular

C.equal

D. half

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_uW8lnHUsftfH
https://dl.doubtnut.com/l/_3JsxXiAM29QF

2 $2

12. Evaluate —— — —,where z = atanf and y = bsecf
b  a?

A.O

B.1

D.3

Answer:

o Watch Video Solution

13. What is the area of the largest triangle that can be inscribed in a

semicircle of radius r unit.

A. v/2r? sq units
2 .
B. 7" sq units

1, .
C. 3759 units



https://dl.doubtnut.com/l/_SxkpGQMvYHMe
https://dl.doubtnut.com/l/_XehS12peWT5A

D. 2r% sq units

Answer:

° Watch Video Solution

14. The HCF of 96 and 404 is

A 4

B.16

C.8

D.12

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XehS12peWT5A
https://dl.doubtnut.com/l/_swpBTf5JoyaT

15. For a rational number P to be terminating decimal, the denominator
q

q must be of the form 25", where m, n are

A. Integers
B. Natural numbers
C. Positive integers

D. Non-negative integers

Answer: B

o Watch Video Solution

16. The value of 2tan45° — sec60° + cos ec30° is

A5

B.4

C.3

D.2


https://dl.doubtnut.com/l/_zogqOjKUzhnH
https://dl.doubtnut.com/l/_vUmPUljTHDuM

Answer:

° Watch Video Solution

17.A(30, 20) and B(6, — 4) are two points. The coordinates of point P in
AB such that 2PB= AP are:

A. (14, 4)

B. (22,9)

C. (14, —4)

D.( — 22,9)

Answer:

° Watch Video Solution

18.In AABC, right angled at B, if AB=12cm, BC= x and AC=13cm, then the

value of x is


https://dl.doubtnut.com/l/_vUmPUljTHDuM
https://dl.doubtnut.com/l/_69fC642G8VD3
https://dl.doubtnut.com/l/_GvYvuf0FnAgy

A7

B.5

Answer:

o Watch Video Solution

19. Calculate the value of k, if x=k is a solution of the quadratic polynomial

22 + 4z + 3.

A1l



https://dl.doubtnut.com/l/_GvYvuf0FnAgy
https://dl.doubtnut.com/l/_7igTbFCneOxW

| ° Watch Video Solution

20. If A(3,4), B(7, 9) and C(x, 2) are the vertices of AABC whose centroid

is G(4,y), then the value of x and y, respectively are:

A 2,5

Answer:

° Watch Video Solution

1. Find the least number which when divided by 15, leaves a remainder of

5, when divided by 25, leaves a remainder of 15 and when divided by 35


https://dl.doubtnut.com/l/_7igTbFCneOxW
https://dl.doubtnut.com/l/_h2ET7r7ZZYBs
https://dl.doubtnut.com/l/_nCrJLWbk1lXn

leaves a remainder of 25.

A. 515

B. 550

C.530

D. 600

Answer:

° Watch Video Solution

2.If the zeroes of the quadratic polynomial z* + (a + 1)z + b are 2 and

-3, then
A-T7 —1
B.5, —1
C.2, —6

D.0, — 6


https://dl.doubtnut.com/l/_nCrJLWbk1lXn
https://dl.doubtnut.com/l/_wXAcHErlgoQS

Answer:

° Watch Video Solution

3. Find the diameter of the wheel which covers a distance of 88km in 1000

revolutions.

A . 14m

B.28m

C.27m

D.20m

Answer:

° Watch Video Solution

4.1fsin A + sin? A = 1, then the value of cos®> A + cos* A is 2 (b) 1(c) -2

(d)o


https://dl.doubtnut.com/l/_wXAcHErlgoQS
https://dl.doubtnut.com/l/_uQzId6ylyTfi
https://dl.doubtnut.com/l/_h7970IyVYbWH

Al

B.O

D. oo’

Answer:

o Watch Video Solution

5.What is value of o + B, if tana = 1 and sec8 = /27

A.0°
B.30°
C.45°

D.90°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_h7970IyVYbWH
https://dl.doubtnut.com/l/_28GgNueOFnD9

6. Determine the ratio in which the line 2x +y 4 = O divides the line

segment joining the points A(2, 2) and B(3,7).

A4:7

B.3:5

C.2:9

D.5:8

Answer:

o Watch Video Solution

7. Find the length of each side of a rhombus whose diagonals are 24 cm

and 10 m long.

A. 34cm

B. 26cm


https://dl.doubtnut.com/l/_28GgNueOFnD9
https://dl.doubtnut.com/l/_RNGia0TovyVK
https://dl.doubtnut.com/l/_ub5pGw6AXqw4

C.25cm

D.13cm

Answer:

° Watch Video Solution

8.In the equation shown below, a and b are unknown constants.

dar +4y= —2 and 2z + by =14

If ( — 3, 4) is the solution of the given equations, find the value of ab.
A.10
B.6
C.12

D.15

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ub5pGw6AXqw4
https://dl.doubtnut.com/l/_U9oBN0VRpmGQ

sinf — 2sin®6

i
2cos3 0 — cos O

9. The value of S

A. cot 0

B.tan@

C.secf

D. cos ecf

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_U9oBN0VRpmGQ
https://dl.doubtnut.com/l/_z3Ks3Dw6WRq0

10. How many zeroes are there of y = f(x) for the given graph?

Y
F 3

A.O0

B.1

C.2

D.3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tdyhKWLo8Qcz
https://dl.doubtnut.com/l/_okChya0thgB1

1. In the given figure (not drawn to scale) three trianges are shown.

Which of the two triangles are similar ?

A.AABC-AXYZ

B.APQR-AXY Z

C.AABC-AYZX

D. AQPR-ABCA

Answer: C

° Watch Video Solution

12. If LCM (25, 70)= 350, then HCF (25, 70) is

A.10


https://dl.doubtnut.com/l/_okChya0thgB1
https://dl.doubtnut.com/l/_jCfsGbmWoAOi

B.5

D.12

Answer:

° Watch Video Solution

13. If the mid-point of the segment joining A(z, y+ 1) and
, 3 5
Bx+1,y+2)isC 33 Jindz, y.
A—1,0
B.1,1
C.53

D.3,8

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jCfsGbmWoAOi
https://dl.doubtnut.com/l/_sJl81t2iZgjj

14. In the figure given below, PQRS is a square of side 14 cm and two
semicircles are drawn inside of it with PQ and SR as diameters. Find the

area of the shaded region in the figure.

L RN A A A AR

P 14cm Q

A. 38.71cm?

B. 40cm>

C. 36.82cm?

D. 36cm?


https://dl.doubtnut.com/l/_sJl81t2iZgjj
https://dl.doubtnut.com/l/_IVIw8nipcuJi

Answer:

° Watch Video Solution

15. Evaluate for sin®® z + cos eczgx, if sinx + cosecx = 2.

A2

B.O

Answer: A

° Watch Video Solution

16. In the figure, if DE | | BC and AD: AB = 5:9, then the ratio of

areas of ADEF and ABFC'is



https://dl.doubtnut.com/l/_IVIw8nipcuJi
https://dl.doubtnut.com/l/_cWkvV90rPKoP
https://dl.doubtnut.com/l/_qJdtGs2U3uXV

A 5:4

B.5:9

C.25:81

D.25:16

Answer: ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_qJdtGs2U3uXV

3 -1
17. A quadratic polynomial whose zeros are 5 and o is

Az?— 9z +6

B.10z2 —z — 3

C922+z+6
D.7x> — 3z + 4
Answer:

o Watch Video Solution

18. The point on the x-axis which is equidistant from the points (7,6) and

(-3,4) is

A. (4,0)

B. (5,0)

C.(3,0)

D.(—6,0)


https://dl.doubtnut.com/l/_s6cPIC5H4gwi
https://dl.doubtnut.com/l/_9QLU3NcLfruz

Answer:

° Watch Video Solution

19. In the given figure, DE | | BC. Which of the following is true?

A

[a
B PPemm—————
A.x:a+b
ay
Ba — ax
'y_a—l—b
Cx= Y



https://dl.doubtnut.com/l/_9QLU3NcLfruz
https://dl.doubtnut.com/l/_964BIWFMGiJH

< |8
SRS

Answer:

° Watch Video Solution

20. From the following factor tree, x : y: z is equal to


https://dl.doubtnut.com/l/_964BIWFMGiJH
https://dl.doubtnut.com/l/_2TdyKmA7hl2p

AT7:1:14

B.1:7:14

C.7:14:1

D.14:1:7

Answer:

° Watch Video Solution

Section C Case Study Based Questions

1. For teaching the concept of probability, Mrs. Verma decided to use two

dice. Shet took a pair of die and write all the possible outcomes on the

blackboard. All possible outcomes wave:


https://dl.doubtnut.com/l/_2TdyKmA7hl2p
https://dl.doubtnut.com/l/_XTkEEJ7pkKHj

(1,0), (1,2), (1,3), (1,4), (1,5), (1,6)
(2,), (2,2),(2,3), (2,4), (2,5), (2,6)
(3,1),(3,2), (3,3), (3,4), (3,5), (3,6)
(4)), (4,2), (4,3),(4,4),(4,5),(4,6)
(5), (5,2), (5,3), (5,4), (5,5), (5,6)
(6,0), (6,2), (6,3), (6,4), (6,5), (6,6)

The probability that 4 will not come up on either of them is

Answer:


https://dl.doubtnut.com/l/_XTkEEJ7pkKHj

o Watch Video Solution

2. For teaching the concept of probability, Mrs. Verma decided to use two
dice. Shet took a pair of die and write all the possible outcomes on the

blackboard. All possible outcomes wave:

(1,1), (1,2), (1,3), (1,4), (1,5), (1,6)
(2,1), (2,2),(2,3), (2,4), (2,5), (2,6)
(3,), (3,2), (3,3), (3,4), (3,5), (3,6)
(4)), (4,2), (4,3),(4,4), (4,5),(4,6)
(5,), (5,2), (5,3), (5,4), (5,5), (5,6)
(6,0), (6,2), (6,3), (6,4), (6,5), (6,6)

The probability that 5 will come up at least once is:

13
A —
18


https://dl.doubtnut.com/l/_XTkEEJ7pkKHj
https://dl.doubtnut.com/l/_Yr0L2Wmx2LR7

Answer:

o Watch Video Solution

3. For teaching the concept of probability, Mrs. Verma decided to use two

dice. Shet took a pair of die and write all the possible outcomes on the

blackboard. All possible outcomes wave:

(11, (1,2), (1,3), (1,4), (1,5), (1,6)
(2)),(2,2), (2,3), (2,4), (2,5), (2,6)

(3.1), (3,2), (3,3), (3,4), (3,5), (3,6)



https://dl.doubtnut.com/l/_Yr0L2Wmx2LR7
https://dl.doubtnut.com/l/_elbqP0tx7ba2

(4)), (4,2), (4,3),(4,4), (4,5),(4,6)
(5,), (5,2), (5,3), (5,4), (5,5), (5,6)
(6,0), (6,2), (6,3), (6,4), (6,5), (6,6)

The probability that 6 will come up on both dice is

o= ot g|m g%|,_.

Answer:

o Watch Video Solution

4. For teaching the concept of probability, Mrs. Verma decided to use two
dice. Shet took a pair of die and write all the possible outcomes on the

blackboard. All possible outcomes wave:


https://dl.doubtnut.com/l/_elbqP0tx7ba2
https://dl.doubtnut.com/l/_8j9I8PPq1YiS

(10, (1,2), (1,3), (1,4), (1,5), (1,6)
(2,0), (2,2), (2,3), (2,4), (2,5), (2,6)
(3,), (3,2), (3,3), (3,4), (3,5), (3,6)
(41),(4,2),(4,3), (4,4),(4,5), (4,6)
(5,), (5,2), (5,3), (5,4), (5,5), (5,6)
(6,0), (6,2), (6,3), (6,4), (6,5), (6,6)

The probability that both numbers comes up are even, is

Alow AR R W

Answer:



https://dl.doubtnut.com/l/_8j9I8PPq1YiS

| o Watch Video Solution

5. For teaching the concept of probability, Mrs. Verma decided to use two
dice. Shet took a pair of die and write all the possible outcomes on the

blackboard. All possible outcomes wave:

(1,0), (1,2), (1,3), (1,4), (1,5), (1,6)
(2,1), (2,2),(2,3), (2,4), (2,5), (2,6)
(3,1), (3,2), (3,3), (3,4), (3,5), (3,6)
(4)), (4,2), (4,3),(4,4), (4,5),(4,6)
(5]), (5,2), (5,3), (5/4), (5,5), (5,6)
(6,0), (6,2), (6,3), (6,4), (6,5), (6,6)

The probabiliyt that both numbers comes up are prime numbers, is

3
A —
4


https://dl.doubtnut.com/l/_8j9I8PPq1YiS
https://dl.doubtnut.com/l/_kk93oVNQT4OP

Q)
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Answer:

° Watch Video Solution

A book store shopkeeper gives books on rent for reading. He has variety
of books in his store related to fiction, story books, quiz books etc. He
takes a fixed charges for the first two days and an additional charges for

each day thereafter. Radhika paid Rs 22 for a book and kept for six days,


https://dl.doubtnut.com/l/_kk93oVNQT4OP
https://dl.doubtnut.com/l/_S0AlIpgpRKM6

while Reshma paid Rs 16 when she kept for 4 days. Let the fixed charges
be represented by Rs x and charges for each days be represented by Rs y.

Represent algebraically the situation of amount paid by Reshma

Azr—4y =16

B.z + 4y = 16

Czx—2y=16

D.z + 2y = 16
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_S0AlIpgpRKM6

A book store shopkeeper gives books on rent for reading. He has variety
of books in his store related to fiction, story books, quiz books etc. He
takes a fixed charges for the first two days and an additional charges for
each day thereafter. Radhika paid Rs 22 for a book and kept for six days,
while Reshma paid Rs 16 when she kept for 4 days. Let the fixed charges
be represented by Rs x and charges for each days be represented by Rs y.

Represent algebraically the situation of amount paid by Radhika.

Az —2y=11
B.x — 2y = 22
Czx+4y =22

D.z — 4y = 22


https://dl.doubtnut.com/l/_tzmZTJLePUYH

Answer:

° Watch Video Solution

8. A shopkeeper gives books on rent for reading. She takes a fixed charge
for the first two days and an additional charge for each day thereafter.
Latika paid Rs. 22 for a book kept for six days, while Anand paid Rs. 16 for
the book kept for four days. Find the fixed charges and the charge for
each extra day.

A.Rs 15

B.Rs 9

C.Rs 10

D.Rs 13

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tzmZTJLePUYH
https://dl.doubtnut.com/l/_codVy28kQmap
https://dl.doubtnut.com/l/_0QT87Mis5KhR

9. A shopkeeper gives books on rent for reading. She takes a fixed charge
for the first two days and an additional charge for each day thereafter.
Latika paid Rs. 22 for a book kept for six days, while Anand paid Rs. 16 for
the book kept for four days. Find the fixed charges and the charge for
each extra day.

A.Rs 4

B.Rs 3

C.Rs5

D.Rs 6

Answer:

o Watch Video Solution

10. A shopkeeper gives books on rent for reading. She takes a fixed charge
for the first two days and an additional charge for each day thereafter.

Latika paid Rs. 22 for a book kept for six days, while Anand paid Rs. 16 for


https://dl.doubtnut.com/l/_0QT87Mis5KhR
https://dl.doubtnut.com/l/_VKX8CYFqRW7H

the book kept for four days. Find the fixed charges and the charge for

each extra day.

A.Rs 35

B.Rs 52

C.Rs 50

D.Rs 58

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_VKX8CYFqRW7H

